               EXERCISE – 8.1
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Number of people who like cricket = 60%

Number of people who like football = 30%

Number of people who like other games = 100% - (60% + 30%) = 10%
Now  Number of people who like cricket = 60% of 50,00,000

60
= 22.50,00,000 =30,00,000
To0™%0.00.
And  Number of people whao like football = 30% of 50,00,000
30
= =2.x50,00,000 = 15,00,000
% 00,
Number of people who like other games = 10% of 50,00,000
10
= ~-x50,00,000 = 5,00,000
% 00,

Hence, number of people who like other games are § lakh.
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(a) Speed of cycle = 15 km/hr
Speed of scooter = 30 km/br
Hence ratio of speed of cycle to that of scooter = 15 : 30
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2x100% =75%
a

(a) Percentage of 3:4

(b) Percentage of 2:





image3.jpeg
“Total number of students = 25
Number of good students in mathematics = 72% of 25

gz}
=2.05=18
w
Number of students not good in mathematics = 25 - 18 = 7

Hence percentage of students not good in mathematics = %. 100 =28%
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Let total number of matches be x
According to question,
40% of total matches = 10
= 40%ofx=10
0
= e
10x100

5 palONO o
ST

Hence total number of matches are 25.
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= x=600x4=72400
Hence the money in the beginning was ¥ 2.400.
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 Lether money in the beginning be ?.x.
According to question,
X=75% of =600




